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A Temple of Education

NILACHAL EDUCATIONAL TRUST
ODISHA VIDYARATNA AWARD
CLASS - VI

Time : 3 Hrs. Full mark : 120

Instructions to the candidates :

) All questions are compulsory. Candidates should write the answers only in the blank space provided.
o Caqdidates are advised to attempt either the Odia medium or the English medium questions as per their
) i:(:rcee\./vill be no negative marking for any wrong answer.
[ Do the rough works on the sheet attached at the end of question paper.
A. DIRECT-INDIRECT SPEECH.
Q1. Neha requested the teacher to repeat the question. Neha said to the teacher,
“ you please repeat the question?”
Q2. They said, ‘Let us come in’. They that they might be allowed to come in.
Q3. “l am unwell”, Pooja said. Pooja said that was unwell.
Q4. A father said, “God may save my daughter”. A father pra that God save
his daughter. o
Q5. My teammate said, “Let us co te\the Brk”. My team ate/auggested that they
complete the work! _
Q6. The cricketer 316, “Hur Wefhave wan the match”. The cricketer exclaimed with
/ . }at th hy\tho the match.
Q7. Adiéta said, “| h1ve bought'a book .” Adipta said that she bought a book.
Qs. Teachr said, ¥She is going to the picnic, isnt she?” Teacher confirmed
she was going to the party or not. (Don’t use-if)
B. USE APPROPRIATE PREPOSITIONS.

Q9. Books are great source knowledge.

Q10. Rajtravelled all the world when he turned twenty one.
Q11. Men die sleep.

Q12. The sky is the earth.

Q13. The boat floats the stream.

Q14. This tea is exactly my taste.

Q15. Priyansh was thrown his horse.

Q1e. | differ you.
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USE APPROPRIATE TENSES.

Q17. The administration was clueless about the initiative taken to help the people

(suffer) from the drought.

Q18. Which movie (watch) on television when | called you?
Q19. | (read) the novel for the last two weeks.
Q20. A while ago, an interesting discovery (made) by archaeologists on the

Aegean Island of Kec.

Q21. The investigator couldn’t find out what (happen).
Q22. The time (come) when you shall hear me.

Q23. The British Empire (succeed) to the Mogul.
Q24. Therain (cease) yesterday.

PARTS OF SPEECH (Recognition)
Q25. The sacking of the city was an epochal event.

Ans. :

Q26. We're all set, but we need to table that topic for next time.
Ans. :

Q27. A spy came to spy out the land.
Ans. :

Q28. Birds of prey sometimes prey upon one another.
Ans. :

< -

§29 It is wrong to wrong any one. \ e
\ o
Q30. A gold watch is rne thaﬂ o&o‘\
. A}
The(lttlebey ca reéd I|t e b\Thls time.

Ans. : v —
Q32. They refuse to permit us to obtain the refuse permit.
Ans. :
VOCABULARY
Qss. (adj.) means one who pays careful attention.
Q34. Baby ducks are called (n).
Q35. An (adj.) is the person who does not know how to read and write.
Q36. One having no horns is (adj.).
Q37. Antonym of losers is (n).
Q38. Synonym of the word “crack”, starting with alphabet “b” is (V).
Q39. Those who take part in some events are called (n).
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Q1.

Q2.

Qs.

Q4.

Q5.

Q6.

Q7.

Q8.

Qo.

Q10.

Q1.

Q12

Q13.

Q14.

Q15.

Q40. A synonym of the word puzzle, starting with alphabet “r’, is (n).

RH6Q rdm QDG Q@RI RSN QLR QRIS |

The undesired plants that grow along with the crop are called
2RO FIG. Q6 VRIS RRQUAN |

is the unit to measure the microorganisms.

QdQ 6QI0IR FANR IR TRl ARURP FAYSR ?

has discovered the vaccine for small pox.
N@ @14 QTR IR QI8! TS |

is an example of antibiotic.
261 @RF 6QUGI QYR IR 2@ QIR 6LINEIN |

The rust in wheat is because of pathogen.
UPB AYI6LTR 65 JIRRREQ G @RQULN |

The tape of audio cassette is made up of polyester.
Qysal=lagaliala 26S' |

Terylene is otherwise called as
q@@\ J@8o@e! 2SI 26T |

plastics are non-renewable.

QIS 215 Feqlie fdg GIGDQQ% 621N
plasticis use to make tRe firg resistant clothes.

2RI Goa RS, _“ aa)
The oxidg‘ajen-met Is are\ f in nature.
Yol 0@@@ celies ARLIQ AQUAGE LRI e QIQ |
Now a days the roads are made up of and these are derived from
YO PRQIA ] HIQ SO AU |
and gases are supplied by using the underground pipes.
UR| PAPRLR QILER QH6R 696! 920 29 BI216. Q2Q QOIKIN |
The burning of phosphorous in room temperature is called combustion.
0 GERIGIIF 6EATHIQ QRPR AUYIERIR CIRY 266G |
The burning of 1 kilogram of biogas has calorific value.
606! 661860 PYEQ AIERR 1@ GIRIG 6018 Q1IN ?

PAGE - 3



The nucleus of the cell which has no nuclear membrane is called as
Q16. IVF @ PR @61 ?

is the full form of IVF.
Q17. 9GQUIRQE 2liia, 65I6° Ia JRI0R IGRR |

Cloning is a mode of reproduction.
Q18. ¢llg, %IQ@"QL R QIRAIPRER g9« Jell@R16R 621N |

In fishes and starfishes the zygote is formed by mode of fertilisation.
Q19. 69% YA GG @ aQaQ, LA diel @eldg.

The animals those who are giving birth to young ones are called as animals.
Q20. ] SIS ?,IIQ@ QURINRQVIQ @I SN |

and cell can change their shape.
Q21. FiQIa S010Q G 63dY 38R 9eq Q21N |

The long extended part of Amoeba is called
Q22. Y616 gl 6218 a1a] 8 SISl QSIS da |

The cell of the elephant and mouse are long and branched.
Q23. P48 QEEQ JQI oI @& 2Pl QDI |

The thread like structure found in the nucleus of the cell is call .
Q24. 28IERQ IR UM O@I&T@QQQ @6m 0121 @0 621N | 668 2RI < a‘@m
ilinthis hitish pat is_calléd .
/

The white part of egg becomes solid rb
|
itan

Q25. @Sl G IRRE, T qa
ce)

. S C Igsu it\cﬂi\nerl
Q26. 9@ @1@@@\@@&@@ qeld QLI |

The living flégid yde e living cell is called
Q27. QL6Q HURGY RIPQ QR B YIFIRRER PIF Q&F |

book is keeping the record of endangered plants and animals.
Q28. Y2Q1 J8Q) 6RIM AIRQQ ISRl QI a6 8 Jidieg Q1IN |

The species which are going to be extinct from earth surface are called as
Q29. 2IRQI6Q 6QSIANRIR| Qe QAIKIN |

The short extention developed in Hydra is called
Q30. 66IGN RIFQ AN FRQ ARRSRY AN ¥R gIPe 28l 606l AR RRR 62Qle

0@ |
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The birds those are shifting from one place to other to lay eggs are called
Q31. IRAQ J6GYe 2relg. QRIS |

The is called unit of polymer.
Q32. Q& QR I8 62IREN |

microbe causes cholera.
Q33. FIFQ AERS! 9F e 1R 246 69QIR QILASAY TuIgRg! QR QIR | .

The blue green algae go through the atmospheric cycle to increase the

fertility of soil.
Q34. UIERAZI Q8 QJRIRIQ! AIGAIEIR Q16 |

vector spreads malaria.

Q35. 6IRINE QIR @AEM |

has discovered penicillin.
Q36. G @GEQ JQEIG ARRQIER PR F1QIE AR @RI |

bacteria converts the milk into curd.
Q37. QA6 6086 QIR ARRIN AR AP TR 8 BY IR ALY 62IRAIQE |

machine is used for harvesting of crops.
Q38. 6ARS e° QUF] PARQ 2RO |

Mustard and sesame are examples of
Q39. Y. d. 6@ e

N. P. Kis an example of

Q40. Q QG E
|s calle

MATHEMATICS
Q. 7 ﬁ ‘j’( |
(‘7 ‘5J ()34 -
X Ix— [+ X =
18 -7 4 2 4
Q2. Q@G IAGFIY TR QEIPE —= 8 106 sa1d g°€1q| @q 696Q 2PY LHUYIS

The product of two rational number is % If one number is 2—the other number is

Qs. T \‘IQ" Q Andq — ﬂ®° _1 Q QPR A2 LIG REM QAR 0LQ |
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Q4.

Q5.

Qe6.

Q7.

Qs.

Qo.

Q10.

Q1.

Q12

Q13.

Q14.

Divide the sum of ? and % by the product of _731 and _?1 The answer is

24 ¢ @l 9F 69191 G2IQ RAQI AR 54 f. RO QRIR 626M@ 66115 6AINIR GAUIR AR Al

8. a9l 0eIR ?

If 24 trousers of equal size can be prepared in 54 metres of cloth, length

of cloth is required for each trouser.

a=1 & b= 696 (52°)x(~10ab°)x(-21a’*) @ IR

The value of (5a°)x(-10ab®)x(-21a’®)for a=1 and b:% is

3 1 3
Exz(x2 _1)+ZX2(X2 +x)—zx(x3 -1)=

3 1 3
Exz(x2 _1)+ZX2(X2 +X)_ZX(X3 -1)=

a6 x2+%:27 6669 x—% Q aQaIE =

If x2+l2=27 then the value of x—% =
X

QG 4x2 +y? =40 IG° xy =6 6G6Q 2x+y =

If 4x* +y* =40 and xy =6 then the value of 2x+y = g™

QG x2+y? =29 \9G° xy =-2 606Q x*+y*=

If x*+y*=29 and xy =-2, then the valur—of

QJIQIRQE! : 100(x +y)* =81(afb)* = \
Factorize(ﬁogmy) —%a+b A\I \ \
@g|@1@@ 3 xs_y15+ 8+y8£\\

Factorize : & -¢)+ Xe+yt=

60lIGN ‘N’ Q12 AFNY QB QLYAN Sadan|

An ‘n’ sided convex polygon has diagonals.
o A QLR deCHR 28R ISR JAQFNE RO O626M I2IR QIQ eyl =

If measure of each angle of a regular polygon is 108° then the no. of sides of that polygon
is
e 996 QL@ JecUa QE8g 618l YRIR 2PsY 6 @ QLIPS 626M LI QL

oMl I
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Q15.

Q16.

Q17.

Q18.

Q19.

Q20.

Q21.

The exterior angle of a regular polygon is one-third of its interior angle. Then the no. of
side of the polygon is
ABCD 03@@6Q AO I6° BO Q9Igsfl <A ¥&° /B @ 2@8 AAGEER 666Q ,AOB =

In a quadrilateral ABCD, AO and BO are the bisector of #A and B, respectively, then the

measurement of Z/AOB =

79°
107°

A B
¥ QR J9eetn 28y 61Kl e JRIE Jaiasa x°, (x-5)°,(x-5)", (2x-5)°,(2x-5)’,

(2x+20)° 666Q X =

The interior angles of a convex hexagon are x°, (x-5)°,(x-5)°, (2x-5)",(2x-5)", (2x+20)°

respectively then x =

3 2 = 1 =
(Z—gj N QELIC EM 5 166 |

(-24)" @

With (3)".

25xa™

4”‘
5°%x10xa® )
0

Simplify :

T
9 9 9

DRCRCRCELY
9 9 9

66115~ 6RIE6 Q@ AdRIR 664 0.000007 §. Y&° 96 Qe 618 6664 0.00001275 §. 696m

6APR 6GAIR ARG !

The size of a red blood cell is 0.000007 m and the size of a plant cell is 0.00001275 m.
The approx. ratio between is
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Q22. 3.61492x10° @ usual form / QRIS QD =

The usual form of 3.61492x10° is =

~ 3V (2Y* ~
Q23. 9O x=(§j x(gj 606Q x?Q AQFNE! =

If x=(gj x(gj then the value of x2 is =

Q24. 7.54x10™* @ usual form / QRIS QU =

The usual form of 7.54x10™ is =

Q25. (47 x8") —@y _

. 2\
lify : (47x87)=| 2| =

Simplify : (47x )(3)
Q26. (V3a* +2v3a’ +3a° - 6a) @ 3a QAU ATAER QIGPR 62Q |

Divide (v3a‘ +2v3a’ +3a? - 6a) by 3a then quotient is =

Q27. @ 2x+3y =14 Q" 2x -3y =2 6G6Q Xy =

If 2x+3y =14 and 2x-3y =2 then the value of xy =

Q28. (-x®+2x* +4x* +2x%) @ V2x* QIR QISIRER QISIPR 699 |
Divide (—x°+2x*+4x®+2x?) by ¥2x* then the quotient |
Q29. QJIQIRQAE] : a?’x* —a*x"? = -

Factorise : a®x* -a*x™? =

Q30. x* +x*y® +y* @ x>+ +y® Qﬁ% QRSP 699
Divide x“&fh +y y& 2y +y*then the quotient is =

Q31. 9306 4PQ)®° PRS Q @8 ANGsER T GQ6Q 680 @@, 666Q QTR =

In the given figure, the bisector of «PQR and «PRS meet at a point T. Then find QTR =

P T
2
60

[09)

4 R >S

Q32. GRUIIIRIQI GRER U8 L|M 279, 686@ X =

In the given fig. if L|m then the value of x is =
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Q8383.

Q34.

Q835.

Q36.

Qa7.

Qs8.

Q39.

QAR 9REQ X QX AR = |

In the given figure of x is =

a6 x+%:«/§ 6669 x4+%6) aaal |

If x+%=\/§ then the value of x*+—- =

X4

L9 5x—4y =15 \9Q° Xy = 3 27, 666Q 25x2 +16y*Q (Y = |

If 5x—4y =15 and xy = 3 then the value of 25x* +16y* =

If x2+l2=66 then the value of x—% =
X

DG 6425 =4x8 56060 X Q ¢

o6 x2+%:66 6656@ x—% QaRY = |
/
| ) -
o
If 64>° =4x8*° then the valu orxi .
C. >
1\2 v

125 R

[ 1 = ) \
< )

QBOGEQ £X=62°, ZXYZ=54"TD YO \9&° ZO QEIQSF £XYZ NIG° ,XZY Q 2UL8AAGHER 29

27°

606Q £0ZY = NG £LYOZ = I

In the given figure «X=62°, «XYZ=54°. If YO and ZO are the bisector of ~XYz and zxzy

respectively the value of 20zY and «YOZ =
X
O
62°
0
54°
Y £ Z
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Q40. 96 GPRR 16 Q@Y ISR ARAIS 105° | 210 2QY Q@GN 6a1¢ Q4 AATRAISIR | 666@ 1@

JoCYm 6@IeI mY = |

An exterior angle of a triangle is 1059 and its two interior opposite angles are equal. Then
measure of each interior opposite angles is
aaa

\\P\f/
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